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BOBANEHE NEELIILSIA=VY Kfiz 1578% %75 &4.0m X ok
FOBANEHE NEELILSA=2T Kfiz 138 100 &4.0m & ok
BOBANEHE NEELIILSIA=VY Kfiz 178% #2150 &5.0m x ok
BOBANEHE NEELIILSIA=VY Kfiz 158% %200 &5.0m X ok
BOBANEHE NEELIILSIA=VY Kfiz 158% %250 &5.0m X ok
BOBANEHE NEELIILSIA=VY Kfiz 158% #2300 £&6.0m & ook
BOBANEHE NEELIILFA=VY Kfiz 158% %350 &6.0m X ook
BOBANEHE NEELIILSIA=VY Kfiz 158% 2400 £&6.0m X ok
BOBANEHE NEELIILSIA=VY Kfiz 158% 2450 £&6.0m X ok
BOBANEHE NEELIILZIA=VY Kfiz 158% #2500 £&6.0m X ok
BOBANEHE NEELIILSIA=VY Kfiz 158% 12600 £&6.0m X ook
BOBANEHE NEELIILSIA=VY Kfiz 158% 2700 £&6.0m X ok
BOBANEHE NEELIILSIA=VY Kfiz 138% 12800 £&6.0m X ook
BOBANEBHE NEELIILFA=VY Kfiz 1378% 2900 £&6.0m X ok
BOBANEBHE NEELIILSIA=VY Kfiz 1#8% 21000 £&6.0m X ok
BOBANEHE NEELIILSIA=VY Kfiz 1#8% #1100 £&6.0m X ok
BOBANEHE NEELIILFA=VY Kfiz 138% #1200 £&6.0m X ok
BOBRAINEHKE NEAELILSA=2Y Kitz 158% %1350 F6.0m N Fokok
BOBAIEHKE NEAELILSA=2Y Kitz 158% %1500 K6.0m N Fokok
FOBANEHE NEELILSA=2T Kfiz 138% 121600 &4.0m & 1,170, 000
FOBANGEHE NEELILSA=2T Kfiz 158% #1600 K5.0m x 1, 440, 000
FOBANGEHE NEELILSA=2YT Kfiz 138%E %1650 &4.0m x 1, 240, 000
FOBANEHRE NEELILSA=2YT Kfiz 138%E %1650 &5 0m P 1,520, 000
FOBANEHE NEELILSA=2T Kfiz 138%% 121800 &4.0m N 1, 480, 000
FOBANEHE NEELILSA=2T Kfiz 138%  1£1800 &5.0m P 1,820, 000
FOBANEHE NEELILSA=2YT Kfiz 138%%  1£2000 &4.0m & 1, 800, 000
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FOBANEHE NEELILSA=2YT Kfiz 138%%  #£2000 &5.0m N 2,210, 000
BRI EBHE NEELILSA=VY Kfiz 1.5%% 121600 £4.0m 1, 030, 000
BOBANEHE NEELIILFA=VY Kfiz 1.5%8% %1600 &5.0m N 1, 270, 000
BOBANEHE NEELIILFA=VY Kfiz 1.538% %1650 &4.0m N 1,090, 000
BOBANEHE NEELIILFA=VY Kfiz 1.5%8% %1650 &5 0m N 1, 340, 000
BOBANEHE NEELIILSIA=VY Kfiz 1.5%8% %1800 &4.0m N 1, 280, 000
BOBANEHE NEELIILSIA=VY Kfiz 1.5%8% %1800 &5.0m N 1,580, 000
BOBANEHE NEELIILFA=VY Kfiz 1.5%8% %2000 &4.0m N 1, 580, 000
BOBANEBHE NEELIILSIA=VY Kfiz 1.5%8% %2000 &5.0m N 1,930, 000
BB INEHHKE NEAELILSA=2Y Kitz 258 & £400  R6.0m x Fokk
BOBANEHE NEELIILZIA=VY Kfiz 2f8% 12450 £&6.0m x ok
BOBANEHE NEELIILSIA=VY Kfiz 2f8% 12500 £&6.0m X ok
BOBANEHE NEELIILFA=VY Kfiz 2f8% 12600 £&6.0m x ok
BOBANEHE NEELIILSIA=VY Kfiz 2f8% 12700  £&6.0m X ok
BOBANEHE NEELIILSIA=VY Kfiz 2f8% 12800 £&6.0m x ok
BOBANEHE NEELIILFA=VY Kfiz 2f8% 12900 £&6.0m X ok
BOBANEHE NEELIILFA=VY Kfiz 2#8% 21000 £6.0m X ok
BOBANEHE NEELIILFA=VY Kfiz 2#8% #1100 £&6.0m X ok
BOBANEHE NEELIILZIA=VY Kfiz 2#8% #1200 £&6.0m X ok
BOBANEHE NEELIILZA=VY Kfiz 2#8% #1350 £&6.0m X ok
BOBANEHE NEELIILZIA=VY Kfiz 2#8% #1500 £&6.0m X ook
BOBANEBHE NEELIILSA=VY Kftz 258% #1600 &4 Om x 1, 040, 000
BOBANEHE NEELIILSIA=VY Kitz 258% #1600 F&5.0m x 1, 280, 000
BOBANEHE NEELIILZIA=VY Kftz 258%E #1650 &4 Om x 1,110, 000
BOBANEHE NEELIILSIA=VY Kftz 258%E #1650 F&5.0m x 1, 360, 000
BOBANEHE NEELIILFA=VY Kftz 2518% #1800 4. 0m x 1,290, 000
FOBANEHE NEELILSA=2YT Kfiz 2#8%€ 121800 &5.0m N 1,580, 000




[ st EMEM ] FR3IFSAH
8. BEE (HBHEH

% # ® Bifi ® &\
FORANEHE NEELILSA=VT Kfz 2f8% 122000 £4.0m &= 1, 590, 000
FORANEHE NEELILSA=T Kfz 2f8% 122000 £5.0m &= 1, 950, 000
FORANEHE NEELILSA=VT Kfz 2.558% %1600 £4.0m &= 960, 000
FORAANEHE NEELILSA=VY Kz 2.5%8% %1600 £&5.0m &= 1,170, 000
BOBANEHE NEELIILFA=VY Kfiz 2.518% %1650 &4.0m N 1,010, 000
FORANEHE NEELILSA=VT Kfz 2.558% %1650 £&5.0m = 1, 240, 000
BOBANEHE NEELIILFA=VY Kfiz 2.5%8% %1800 &4.0m N 1, 180, 000
BOBANEHE NEELIILFA=VY Kfiz 2.5%8% %1800 &5.0m N 1, 450, 000
FORANEHE NEELILSA=T Kfz 2.5%8% %2000 £4.0m &= 1, 470, 000
FORANEHE NEELILSA=T Kz 2.5%8% %2000 £5.0m &= 1, 800, 000
BHORAIEHEHKE RNEELILSA=2Y Kitz 3EE %15 £4.0m x Fokk
FOBANEHE NEELILSA=2YT Kfiz 318 %100 &4 Om x ok
BOBANEHE NEELIILSIA=VY Kfiz 3t8% #2150 &5.0m x ok
BOBANEHE NEELIILFA=VY Kfiz 3t8% %200 &5.0m x ok
BOBANEHE NEELIILFA=VY Kfiz 3t8% %250 5. 0m x ok
BOBANEHE NEELIILZIA=VY Kfiz 3t8% 12300 £&6.0m x ok
BOBANEHE NEELIILSIA=VY Kfiz 3t8% 12350 £&6.0m x ok
BOBANEHE NEELIILZIA=VY Kfiz 3t8%® 12400 £&6.0m x ok
BOBANEHE NEELIILFA=VY Kfiz 3t8% 12450 £&6.0m X ook
BOBANEHE NEELIILZIA=VY Kfiz 3t8% #2500 £&6.0m x ok
BOBANEHE NEELIILFA=VY Kfiz 3t8% 12600 £&6.0m X ok
BOBANEHE NEELIILFA=VY Kfiz 3t8® 12700 £&6.0m X ok
B BANEHE NEELIILZIA=VY Kfiz 3t8% 12800 £&6.0m x ok
BOBANEHE NEELIILZIA=VY Kfiz 3t8% 12900 £&6.0m X ok
BOBANEHE NEELIILZIA=VY Kfiz 3%8% 21000 £&6.0m X ok
BOBANEHE NEELIILFA=VY Kfiz 3%8% #1100 £&6.0m X ook
BOBANEHE NEELIILFA=VY Kfiz 3%8% #1200 £&6.0m X ok
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BOBANEHE NEELIILFA=VY Kfiz 3%8% %1350 £&6.0m X ok
BHORAINEHKE RNEELILSA=2Y Kitz 3EE %1500 F6.0m N Fokok
FOBANGEHE NEELILSA=2YT Kfiz 318  1£1600 &4.0m x 964, 000
FOBANEHE NEELILSA=2T Kfiz 318  #£1600 &5.0m & 1, 180, 000
FOBANGEHE NEELILSA=2T Kfiz 318 %1650 &4.0m N 1, 020, 000
FOBANGEHE NEELILSA=2T Kfiz 3188 %1650 &5.0m & 1, 250, 000
FOBANEHE NEELILSA=2YT Kfiz 318E  1£1800 &4.0m N 1, 190, 000
FOBANEHE NEELILSA=2T Kfiz 318  %£1800 &5.0m N 1, 460, 000
FOBANEHE NEELILSA=2YT Kfiz 318  #£2000 &4.0m x 1,500, 000
FOBANEHE NEELILSA=2YT Kfiz 318  #£2000 &5.0m N 1, 830, 000
BOBANEHE NEELIILSIA=VY Kfiz 3.5%8% %1600 &4.0m N 856, 000
BOBANEBHE NEELIILFA=VY Kfiz 3.5%8% %1600 &5.0m N 1, 040, 000
BOBANEHE NEELIILSIA=VY Kfiz 3.5%8% %1650 &4.0m N 911, 000
BOBANEHE NEELIILFA=VY Kfiz 3.5%8% %1650 &b5.0m N 1,110, 000
BOBANEHE NEELIILFA=VY Kfiz 3.5%8% %1800 &4.0m N 1, 060, 000
BOBANEHE NEELIILZIA=VY Kfiz 3.5%% %1800 &5.0m N 1, 300, 000
BOBANEHE NEELIILZIA=VY Kfiz 3.5%% %2000 &4.0m N 1,310, 000
BOBANEHE NEELIILZIA=VY Kfiz 3.5%8% %2000 &5.0m N 1, 600, 000
BHORAINEHKE RNEAELILSA=2Y Kitz 458 % 2600 K6.0m X Fokk
BOBANEHE NEELIILZIA=VY Kftz 4% £700 &6.0m N Fook
BOBANEHE NEELIILSIA=VY Kftz 4i8E 2800 6. 0m N Fokok
BOBANEHE NEELIILZIA=VY Kftz 4% £900 6. 0m x Hkok
BOBANEHE NEELIILFA=VY Kfiz 4%8% 21000 £&6.0m X ok
BOBANEHE NEELIILZIA=VY Kfiz 4%8% 21100 £K6.0m X ok
BOBANEHE NEELIILZIA=VY Kfiz 4%8% #1200 £K6.0m X ok
BOBANEHE NEELIILFA=VY Kfiz 4%8% %1350 £6.0m X ok
BOBANEHE NEELIILZIA=VY Kfiz 4%8% 21500 £&6.0m X ok
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BORAINEHKE NEELILSA=2Y Kitz 4f8%  #£1600 F&4.0m X 890, 000
BB INEHKE NEELILSA=2Y Kitz 4f8%  #£1600 K5.0m Z: 1,090, 000
BHORAINEHKE NEELILSA=2Y Kitz 4f8%  #£1650 F&4.0m Z: 954, 000
BHORAINEHHKE NEELILSA=2Y Kitz 4%  #£1650 K5.0m X 1, 160, 000
BB INEHKE NEELILSA=2Y Kitz 4%  #£1800 F&4.0m X 1,120, 000
BHORAINEHHKE NEAELILSA=2Y Kitz 4f8%  #£1800 K&5.0m X 1,370, 000
BHDRAINEHEHKE NEAELILSA=2Y Kitz 4f8%  #£2000 F&4.0m X 1, 350, 000
BB IEHKE NEELILSA=2Y Kitz 4f8%  #£2000 K&5.0m X 1, 650, 000
BOBAIEHE RNEELILSA=2T Kiiz 4.5%% -DA 12600 &£6.0m Z ook
BOBAIEHE RNEELILSA=2T Kitz 4.5%%-DA 12700 £6.0m Z ook
BOBAINEHE RNEELILSA=2T Kiiz 4.5%% -DA 12800 &£6.0m & ook
BOBAINEHE RNEELILSA=2T Kiiz 4.5%% -DA 12900 E£6.0m & ook
BOBAIEHE RNEELILSA=2T Kiiz 4.5%% -DA 121000 £6.0m Z ook
BOBAIEHE RNEELILSA=2T Kiiz 4.5%%-DA 121100 £6.0m Z ook
BOBAIEHE RNEELILSA=2T Kiiz 4.5%% -DA 121200 £6.0m ZS ook
BOBAIEHE RNEELILSA=2T Kiiz 4.5%% -DA 121350 f&6.0m Z ook
BOBAINEHE RNEELILSA=2T Kiiz 4.5%% -DA 121500 f&6.0m Z ook
BHORAIEHE NEELILSA=VY Ktz 4.558%-DA 21600 &4.0m X 787,000
BHORAIEBHE NEELILSA=VT Ktz 4.558%-DA 21600 F&5.0m X 958, 000
BHORAIEBHE NEELILSA=VT Ktz 4.558% -DA 21650 F&4.0m X 840, 000
BOBAIEHE RNEELILSA=2T Kftz 4.5%8% -DA %1650 &5.0m Z:N 1, 020, 000
BHORAIEBHE NEELILSA=VT Ktz 4.558% -DA 21800 F&4.0m X 996, 000
BOBAINEHE RNEELILSA=2T Kftz 4.5%8% -DA %1800 f&5.0m Z:N 1,210, 000
BHORAIEBHE NEELILSA=VT Ktz 4.558% -DA 22000 F&4.0m X 1, 200, 000
BHORAIEBHE NEELILSA=VYT Ktz 4.558% -DA 22000 F&5.0m X 1, 470, 000
BOBAIEHE NEELILSA=2YT Kiiz b%8%-DB 12600 &£6.0m ZS ook
BOBAINEHE NEELILSA=2YT Kiiz bi&%-DB 12700 £6.0m ZS ook
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BOBANEHE NEELIILZIA=VY K#tz 5%8%-DB %800 f6.0m X *kK
BOBANEHE NEELIILSIA=VY Kftz 5%%-DB %900 f6.0m X *kK
FORA)EHE NEELILSA=VT Kz 5%&%-DB {21000 £6.0m = Kokk
BOBANEHE NEELIILFA=VY Kfiz 5%8%-DB %1100 £&6.0m X ok
FORANEHE NEELILSA=T Kz 5%8%-DB 121200 £6.0m = Hork
BOBANEHE NEELIILSIA=VY Kfiz 5%8%-DB %1350 £&6.0m X ok
BOBANEHE NEELIILFA=VY Kfiz 5%8%-DB %1500 £&6.0m X ok
BOBANEHE NEELIILSIA=VY Kftz 5%%-DB 21600 f&4.0m N 723, 000
oA EHE NEELILSA=T Kfiz 5%8%-DB %1600 &5.0m &= 879, 000
BOBANEHE NEELIILSIA=VY Kftz 5%%-DB 21650 f&4.0m N 713, 000
oA NEHE NEELILSA=T Kfiz 5%8%-DB %1650 &5.0m &= 940, 000
FORANEHE NEELILSA=T Kfiz 5%8%-DB %1800 &4.0m &= 899, 000
FORAEHE NEELILSA=T Kfiz 5%8%-DB %1800 &5.0m & 1,093, 000
BOBANEHE NEELIILSIA=VY Kftz 5%%-DB 22000 f&4.0m N 1,128, 000
BOBANEHE NEELIILSIA=VY Kftz 5%%-DB 22000 {&5.0m N 1, 370, 000
BOBAINEHKE NEAELILSA=2Y T 18E £75 £4.0m x Fokk
BOBANEHE NEELIILZIA=VY THs 1588 12100 £A4.0m x ok
BOBAINEHKE NEAELILSA=2Y TH 158E %150  R5.0m x Fokk
BOBANEHE NEELIILZIA=VY THs 158% 12200 F&5.0m x ok
BORAINEHKE NEAELILSA=2Y TH 158E £250 R5.0m X Fokk
BOBANEHE NEELIILZIA=VY THs 158% 12300  £&6.0m X ok
BOBANEHE NEELIILSIA=VY THs 158% 12350 &6.0m x ok
BOBANEHE NEELIILZIA=VY THs 158% 12400  £K6.0m x ok
BOBANEHE NEELIILZIA=VY THs 1588 12450 F&6.0m X ok
BOBANEHE NEELIILZIA=VY THs 138% 12500  £&6.0m S ok
BOBANEHE NEELIILZIA=VY THs 118% 12600 &6.0m x ok
BOBANEHE NEELIILZIA=VY THs 138% 12700  K6.0m x ok
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BOBANEHE NEELIILFA=VY THs 158% 12800 £&6.0m X ok
BOBANEHE NEELIILSIA=VY THs 158% 2900  £&6.0m X ook
BOBANEHE NEELIILFA=VY TH 138% 21000 £K6.0m X ok
BOBANEHE NEELIILSIA=VY TH 138% #1100 K6.0m X ok
BOBANEHE NEELIILFA=VY TH 138% #1200 £K6.0m X ok
BOBANEHE NEELIILSIA=VY TH 138% %1350 £K6.0m & ook
BOBANEHE NEELIILSIA=VY TH 138% #1500 £K6.0m X ok
BOBANEHE NEELIILZIA=VY T 158E #1600 &4 Om x 1,220, 000
BOBANEHE NEELIILFA=VY T 158E #1600 5. 0m x 1, 490, 000
BOBANEHE NEELIILSIA=VY T 188E #1650 &4 Om x 1,280, 000
FOBANGEHE NEELILSA=2YT TH 13E %1650 &5 0m x 1,570, 000
FOBANEHRE NEELILSA=2YT TH 13E 11800 &4.0m N 1, 540, 000
FOBANGEHE NEELILSA=2YT TH 13E %1800 &5.0m N 1, 890, 000
FOBANEHE NEELILSA=2T TH 13E 122000 &4.0m x 1, 890, 000
FOBANGEHE NEELILSA=2YT TH 13E  1£2000 &5.0m N 2, 310, 000
BOBANEHE NEELIILSIA=VY TH 1.5%% %1600 &4.0m N 1,070, 000
BOBANEHE NEELIILFA=VY TH 1.5%% %1600 &5 0m N 1,310,000
BOBANEHE NEELIILFA=VY TH 1.5%8% %1650 &4.0m N 1, 130, 000
BOBANEHE NEELIILSIA=VY TH 1.53% %1650 &5 0m N 1, 390, 000
BOBANEHE NEELIILFA=VY TH 1.5%% %1800 &4.0m N 1, 340, 000
BOBANEHE NEELIILFA=VY TH 1.5%% %1800 &5.0m N 1, 640, 000
BOBANEHE NEELIILFA=VY TH 1.5%8% %2000 &4.0m N 1, 650, 000
BOBANEHE NEELIILFA=VY TH 1.5%% %2000 &5.0m N 2,020, 000
BHOBAIEHKE NEAELILSA=2Y TH 2BE £400  R6.0m N Fokok
BOBANEHE NEELIILZIA=VY T 2% 2450 R6.0m x Fkok
BOBANEHE NEELIILFA=VY Tfs 218% 12500  F&6.0m x ok
BOBANEHE NEELIILFA=VY Tfs 218% 12600 £&6.0m x ok
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BOBANEHE NEELIILFA=VY Tfs 218% 12700  &6.0m X ok
BOBANEHE NEELIILSIA=VY Tfs 218% 12800 FK6.0m X ook
BOBANEHE NEELIILFA=VY Tfs 218% 12900  £&6.0m X ok
BOBANEHE NEELIILSIA=VY TH 2%8% 21000 £&6.0m X ok
BOBANEHE NEELIILFA=VY TH 2% #1100 £K6.0m X ok
BOBANEHE NEELIILSIA=VY TH 2%8% #1200 £K6.0m & ook
BOBANEHE NEELIILSIA=VY TH 2%8% %1350 £K6.0m X ok
BOBANEHE NEELIILZIA=VY TH 2%8% #1500 £&6.0m X ok
BOBANEHE NEELIILFA=VY TH# 218%E #1600 &4 Om x 1,090, 000
BOBANEHE NEELIILFA=VY TH# 218%E #1600 5. 0m x 1, 330, 000
BOBANEHE NEELIILSIA=VY TH# 218%E #1650 4. Om x 1, 150, 000
BOBANEHE NEELIILFA=VY T 218%E #1650 5. 0m x 1,410, 000
FOBANEHE NEELILSA=2YT TH 218 %1800 &4.0m & 1, 340, 000
FOBANEHE NEELILSA=2T TH 218E %1800 &5.0m N 1, 640, 000
FOBANGEHE NEELILSA=2YT TH 288%E 122000 &4.0m N 1, 670, 000
FOBANEHRE NEELILSA=2T TH 288%E 122000 &5.0m N 2, 040, 000
BOBANEHE NEELIILSIA=VY TH 2.5%% %1600 &4.0m N 999, 000
BOBANEHE NEELIILSIA=VY TH 2.5%% %1600 &5.0m N 1,210, 000
FORAINEBHE NEELILSA=2T Ths 2.5%% 121650 £&4.0m & 1, 050, 000
FORAIEBHE NEELILSA=2Y THs 2.5%% 121650 f5.0m & 1, 290, 000
BOBANEHE NEELIILZIA=VY TH 2.5%% %1800 &4.0m N 1, 240, 000
BOBANEHE NEELIILFA=VY TH 2.5%% %1800 &5.0m N 1,510, 000
BOBANEHE NEELILFA=VY TH 2.5%% %2000 &4.0m N 1, 550, 000
BOBANEHE NEELIILFA=VY TH 2.5%% %2000 &5.0m N 1, 880, 000
BOBAINEHKE RNEAELILSA=2Y T 3EE 75 £4.0m x Fokk
BOBANEHE NEELIILZIA=VY THs 3tE® 12100 K4.0m X ok
BB INEHKE NEELILSA=2Y TH 3EE %150  R5.0m X Fokk
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BB INEHKE NEELILSA=2Y TH# 3EE %200  RK5.0m Fokk
BOBANEHE NEELIILSIA=VY THs 3fE® 12250 5. 0m x ok
FOBANEHE NEELILSA=2YT TH 3#E %300 &6.0m S ok
BOBANEHE NEELIILSIA=VY Tfs 3fE® 12350 £K6.0m S ok
BOBANEHE NEELIILSIA=VY T 3tE® 12400  FK6.0m x ok
FOBANEHE NEELILSA=2YT TH 3#E %450 &6.0m x ok
BOBANEHE NEELIILSIA=VY Tfs 3tE® 12500  F&6.0m X ok
BOBANEHE NEELIILSIA=VY THs 3tE® 12600 FK6.0m x ok
FOBANEHE NEELILSA=2YT TH 3#E %700 &6.0m x ok
BOBANEHE NEELIILSIA=VY THs 3tE® 12800 FK6.0m x ok
BOBANEHE NEELIILSIA=VY THs 3tE® 12900  £K6.0m X ok
BOBANEHE NEELIILSIA=VY TH 3% 21000 £K6.0m X ok
BOBANEHE NEELIILZIA=VY TH 3%8%E #1100 £K6.0m X ok
BOBANEHE NEELIILZIA=VY TH 3%8%E %1200 £K6.0m X ok
BOBANEHE NEELIILZIA=VY TH 3%8%E %1350 £K6.0m X ook
BOBANEHE NEELIILZIA=VY THs 3% #1500 £K6.0m X ok
BOBANEHE NEELIILZIA=VY TH 3%8%E 21600 K4.0m x ook
BOBANEHE NEELIILSIA=VY TH 3%8%E #1600 K5.0m x ok
BOBANEHE NEELIILSIA=VY TH 3%8%E %1650 K4.0m X ok
BOBANEHE NEELIILZIA=VY TH 3%8%E #1650 Kb5.0m X ok
BOBANEHE NEELIILZIA=VY TH 3%8%E %1800 K4.0m X ook
BOBANEHE NEELIILFA=VY THs 3%8% %1800 K5.0m X ook
BOBANEHE NEELIILSIA=VY TH 3%8%E 82000 £4.0m X ok
BOBANEHE NEELIILZIA=VY TH 3% 122000 &5.0m X *kK
FORAINEBHE NEELILSA=2Y THs 3.5%% 121600 F&4.0m & 893, 000
FOBAIEBHE NEELILSA=2Y TH, 3.5%8% %1600 £5.0m = 1, 080, 000
FORAINEBHE NEELILSA=2Y TH 3.5%8% 121650 £4.0m = 946, 000
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BOBANEHE NEELIILFA=VY TH 3.5%% %1650 &5 0m 1, 150, 000
BOBANEHE NEELILFA=VY TH 3.5%% %1800 &4.0m N 1, 120, 000
BOBANEHE NEELIILFA=VY Tz 3.5%8% %1800 £&5.0m & 1, 360, 000
BOBANEHE NEELIILFA=VY TH 3.5%% %2000 &4.0m N 1, 390, 000
FORANEHE NEELILSA=VT TH, 3.5%8% %2000 £S5.0m = 1, 680, 000
FOBANEHE NEELILSA=2YT TH 4%E %600 &6.0m & ok
BOBANEHE NEELIILSIA=VY Tfs 418% 12700  FK6.0m X ok
BOBANEHE NEELIILSIA=VY Tfs 418% 12800 £&6.0m X ok
FOBANEHE NEELILSA=2YT TH 4%E %900 &6.0m X ok
BOBANEHE NEELIILFA=VY TH 4%8% 21000 £K6.0m X ok
BOBANEHE NEELIILSIA=VY TH 4%8% #1100 £K6.0m X ok
BOBANEHE NEELIILSIA=VY TH 43%8%E #1200 £K6.0m X ook
BOBANEHE NEELIILFA=VY TH 4%8% %1350 K6.0m X ok
BOBANEBHE NEELIILSIA=VY TH 43%8% #1500 £K6.0m x ok
BOBANEHE NEELIILSIA=VY TH 438%E #1600 &4.0m X ok
BOBANEHE NEELIILZIA=VY TH 4%8% #1600 K5.0m X ok
BOBANEHE NEELIILSIA=VY TH 4%8%E #1650 K4.0m X ook
BOBANEHE NEELIILFA=VY TH 438% #1650 K5.0m X ook
BOBANEBHE NEELIILSIA=VY TH 4%8%E %1800 K4.0m X ook
BOBANEHE NEELIILZIA=VY TH 4%8% %1800 K5.0m X ok
BOBANEHE NEELIILFA=VY TH 4%8%E 82000 £4.0m X ok
BOBANEHE NEELIILZIA=VY TH 4%8%E 82000 K5.0m X ook
BRI EBHE NEELILSA=2Y THs 4.5F8%-DA %600 &6.0m S Hokk
FORAINEBHE NEELILFA=VYT THs 4.5%8%-DA %700 &6.0m S Hork
FORAINEBHE NEELILSA=VY THs 4.5F8%-DA %800 &6.0m &= Hork
BRI EBHE NEELILSA=VY THs 4.5F8%-DA %900 &6.0m S Hokk
FORAINEBHE NEELILSFA=2Y THs 4.558%-DA %1000 &6.0m S Hork




[ sl EMEM ] FR3IEF5A
8. BEE (HBHEH

% # ® Bifi ® &\
BOBANEHE NEELIILFA=VY T 4.5%8%-DA 121100 f£6.0m X ok
BOBANEHE NEELILFA=VY THs 4.5%8%-DA 121200 f6.0m X ook
BOBANEHE NEELIILFA=VY THs 4.5%8%-DA 121350 f6.0m X ok
BOBANEHE NEELIILFA=VY THs 4.5%8%-DA 121500 f6.0m X ook
BOBANEHE NEELIILFA=VY TH, 4.5%8% -DA 21600 £4.0m PN 7175, 000
BOBANEHE NEELIILFA=VY TH, 4.5%%-DA %1600 {R5.0m N 939, 000
BOBANEHE NEELIILFA=VY TH, 4.5%8% -DA 21650 £4.0m PN 826, 000
BOBANEHE NEELIILFA=VY TH, 4.5%8% -DA 21650 {£5.0m PN 1, 000, 000
BOBANEHE NEELIILFA=VY TH, 4.5%8%-DA 21800 f&4.0m Z: 984, 000
BOBANEHE NEELIILFA=VY TH, 4.5%E% -DA 21800 {£5.0m P 1,190, 000
BOBANEHE NEELIILFA=VY TH, 4.5%8% -DA 22000 £4.0m PN 1, 200, 000
BOBANEHE NEELIILSA=VY TH, 4.5%8% -DA 22000 f£5.0m P 1, 460, 000
BOBANEHE NEELIILZIA=VY TH# 5% -DB %600 f6.0m X *kK
BOBANEHE NEELIILFA=VY TH# 5% -DB %700 f6.0m X *kK
BOBANEHE NEELIILSIA=VY TH# 5% -DB %800 f6.0m X *kK
BOBANEHE NEELIILFA=VY TH# 5% -DB %900 f6.0m X *kK
BOBANEHE NEELIILFA=VY TH# 5% -DB %1000 f6.0m x *kk
BOBANEHE NEELIILZIA=VY Tfs 5%8%&-DB 121100 f6.0m X ok
FORANEHE NEELILSA=T Thy 5%%-DB %1200 &6.0m S Kork
BOBANEHE NEELIILSIA=VY Tfs 5%8%&-DB 121350 f6.0m X ok
FORAANEHE NEELILSA=T Thy 5%%-DB %1500 4&6.0m = Hork
BOBANEHE NEELIILZIA=VY TH 5%E-DB #1600 &4.0m N 713, 000
BOBANEHE NEELIILZIA=VY TH 5%E-DB #1600 &5.0m N 862, 000
BOBANEHE NEELIILSIA=VY TH 5%E-DB #1650 &4.0m N 761, 000
BOBANEHE NEELIILFA=VY TH 5%E-DB #1650 &5.0m N 922, 000
BOBANEHE NEELIILZIA=VY TH 5%E-DB %1800 &4.0m N 893, 000
BOBANEHE NEELIILZIA=VY TH 5%E-DB  #£1800 &5.0m N 1, 080, 000
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FOBANEHE NEELILSA=2YT TH 5%E-DB  #£2000 &4.0m N 1, 130, 000
FOBANEHE NEELILSA=2YT THs 65%%E-DB 22000 £&5.0m 1, 360, 000
FOBANGEHE NEELILSA=2T K,  5%&-DB #2300 &6.00m N *kk
FOBANEHE NEELILSA=2T K,  5%&-DB #2350 &6.00m PN *kk
FOBANGEHE NEELILSA=2T K,  5%&-DB #2400 &6.00m x *kk
FOBANGEHE NEELILSA=2T K,  5%&-DB %450 &6.00m N *kk
FOBANGEHE NEELILSA=2T K,  5%&-DB #2500 f&6.00m PN *kk
FOBANGEHE NEELILSA=2Y T#  5%&-DB #2300 &6.00m x Hkk
FOBANGEHE NEELILSA=2YT T#,  5%&-DB #2350 &6.00m x Hkk
FOBANGEHE NEELILSA=2T TH,  5%&-DB #2400 &6.00m N *kk
FOBANEHE NEELILSA=2T T#,  5%&-DB #2450 &6.00m N Hkk
FOBANEHE NEELILSA=2T T#,  5%&-DB #2500 &6.00m N *kk
FOBANEHE NEELILSA=2YT T#  DC #21600 [F4.0m N 697, 000
BB INEHKE RNEAELILSA=2Y TH DC_#Z1650 &4.0m X 747, 000
FOBANEHE NEELILSA=2YT TH _ DC_ %1800 &4.0m 7N 879, 000
FOBANEHE NEELILSA=2YT TR DC_ %2000 &4.0m N 1,090, 000
FOBANGEHE NEELILSA=2YT TH, DD #2800 f6.0m = *kk
FOBANEHE NEELILSA=2YT TH, DD #2900 f6.0m X *kk
FOBANGEHE NEELILSA=2Y T#, DD #21000 f6.0m X *kK
FOBANEHE NEELILSA=2Y T# DD 21100 f6.0m X *kk
FOBANEHE NEELILSA=2YT T# DD #21200 f6.0m X *kk
FOBANEHE NEELILSA=2YT TH, DD #21350 f6.0m X *kk
FOBANEHE NEELILSA=2YT T#, DD #21500 f6.0m x *kk
BB INEHEHKE NEELILSA=2Y TH DD #1600 F4.0m X 656, 000
BOBAIEHKE RNEAELILSA=2Y TH DD #£1650 4.0m X 703, 000
FOBANEHE NEELILSA=2YT TH, DD %1800 &4.0m N 832, 000
BHORAIEHKE NEELILSA=2Y TH DD #2000 F4.0m X 1,010, 000
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FOBANEHE NEELILSA=2YT Kf, DD #2800 f6.0m = *kk
FOBANEHE NEELILSA=2YT Kf, DD #2900 f6.0m = *kk
FOBANEHE NEELILSA=2YT Kf, DD #21000 f6.0m = *kk
FOBANEHE NEELILSA=2YT Kf, DD #21100 f6.0m = *kk
FOBANEHE NEELILSA=2YT Kf, DD #21200 f6.0m = *kk
FOBANEHE NEELILSA=2YT Kf, DD #21350 f6.0m X *kk
FOBANEHE NEELILSA=2YT Kf, DD #21500 f6.0m = *kk
BOBANEHE NEELIILSIA=VY Kfz DD 21600 £4.0m & 659, 000
BOBANEHE NEELIILSIA=VY Kfz DD %1600 f5.0m & 796, 000
BB INEHKE NEELILSA=2Y K# DD #1650 4.0m X 708, 000
BB INEHKE RNEELILSA=2Y K# DD #1650 {&5.0m X 857, 000
BOBANEHE NEELIILSIA=VY Kfz DD 21800 £4.0m & 829, 000
FOBANEHE NEELILSA=2Y Kfz DD %1800 &5.0m 7N 1,000, 000
FOBANEHE NEELILSA=2YT Kfz DD %2000 &4.0m N 1, 000, 000
FOBANEHE NEELILSA=2YT Kfz DD %2000 &5.0m N 1, 200, 000
- EOHS GHREE

O34 \VEHERESIGM KizigahiL b - SL8 &5 #A Hohk
O34 VEHERESIR Kz fRgh L b - T L8 %100 #H Fk
O34 VEHERESIR Kz fRgh L b - T L8 12150 #H Fk
O34 VEHESERESIM Kz fRghA L b - T L8 %200 #H Fk
O34 VEHERESIM Kz fRgmA L b - T L8 15250 #H Fxk
O34 \VEHERESIM Kz fgmA L b - T L8 12300 #H Fxk
O34 VESERESIR Kz fRghJL b - T L8 12350 #H Fxk
o244 \VEHERESIM Kz fRgmA L b - T L8 %400 #H Fxk
B34 VEHESERESIM Kz fRgmA L b - T L8 15450 #H Fk
O34 VESERESIM Kz fghA L b - T L8 12500 #H Fxk
O34 VEHERESIM Kz fghA L b - T L8 %600 #H Fk
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S8 4 LESERES NS KIR@AL k- S8 E700 1@ ol
S8 4 LESERES NS KIR@AL k- SL8 2600 1@ ok
S8 4 L EHEREA NS KIRAUL k- SL8 900 @ ok
S8 4 L ESRERES NS KIR@AUL k- SL8 1000 1@ ok
S8 4 L ESERES NS KIR@AUL k- SL8 E1100 @ ok
S8 4 VSRS NS KIRAUL k- SL8 1200 @ ok
S8 4 L EHERES NS KA k- SL8 (21350 1@ ok
S5 4 L ESREREA NS KIR@AUL k- SL8 1500 1@ ok
S8 4 L ESERES DS KA k- SL6 (1600 @ 142,000
S8 4 L ESERES NS KA k- SL8 (21650 1@ 149,000
S8 4 L ESERES NS KA k- SL6 (1800 @ 170,000
S8 4 L ESRERES NS KA k- SL6 22000 1@ 205,000
BRE (GBRES)

B9 5 4 L BREBIE Ki 2600 60° P& Bl iE R & 234,000
B9 54 L BREBIE ki 2700 60° P& B g B & 319,000
B9 54 L BREBIE Ki 2800 60° P& B iE B & 418,000
5954 L BREBIE Ki 2000 60° P& Bl iE B & 590, 000
B9 54 L BREBIE ki 21000 60°  PE A Fulils & 719,000
B9 54 L BREBIE ki 21100 60°  EAFiEEE & 860, 000
B9 54 L BREBIE ki 21200 60°  EAFiEEE & 989,000
B9 54 L BREBIE ki 21350 60° P& FuiEEE & 1,230, 000
B9 584 L BREBIE ki 21500 60°  PEAFuiE e & 1, 490, 000
5954 L BREEE K, 2600 30°  MEAFMSEEE & 207,000
S5 54 L BREEE Kis 2700 30°  MEAFMSEEE & 285,000
B9 54 L BREEE K, 2800 30°  MEAFMSEEE & 375,000
S5 54 L BREEE K, 2900 30°  MEAFMEEE & 534,000
B9 54 L BREEE K, 21000 30°  AEABAERE & 679,000
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Fo A NEHEEHME Kz 21100 30° MESMBIEEE S 840, 000
Fo 34 NEHEEHME Kz 121200 30° MESMBIESE S 971, 000
Fo A NEHEEHME Kz 121350 30° MESMBIEEE S 1, 190, 000
Fo 34 NEHEEHME Kz 121500 30° MESMBIEEE S 1, 460, 000
5 D440 EEERE R R 1 £ B TH &75 #A 2,540
50440 EEERE AR R £ B THz #2100 # 2,830
5 D440 EERE R D I £ B THz #2150 # 4,280
5 D440 EEERE RER R £ B Tz #2200 # 6,330
5 D440 EEERE R R i £ B Tz #2250 # 8,160
¥ o EEskE RIS R (£F8 4 F) Kitz &75 #A -
¥ nEEskE AL SR (£F84 F) Ktz #%100 #A -
¥ i EEskE AL SR (£F84 F) Ktz %150 #A -
¥ s qEEskE AL SR (£F8 4 F) Ktz %200 #A -
¥ s EEskE RERRIIEE R (£F84 F) Ktz %250 #A -
¥ s EEskE RERIIEE R (£F84 F) Ktz %300 #A -
¥ s EEskE RIS R (£F84 F) Ktz %350 #A -
¥ s EEskE AL SR (£F84 F) Ktz %400 #A -
¥ s EEskE AL SR (£F84 F) Ktz %450 #A -
¥ s EEskE AL SR (£F84 F) Ktz %500 #A -
¥ s EEskE AL SR (£F84 F) Ktz %600 #A -
¥ s qEEskE AL SR (£F84 F) Ktz #1700 #A -
¥ s nEEskE AL SR (£F8 4 F) Ktz %800 #A -
¥ s nEEskE AL SR (£F8 4 F) Ktz %900 #A -
5 D440 EEERE RTS8 TH %50 #A -
5 D440 EEERE R R B TH &75 #A 2,540
5 D440 EEERE R RS E £ 8 THs #2100 # 2,830
5 D440 EEERE AR £ B THz #2150 # 4,280
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o5 EEEXERBERRITIE £ B THz %200 #A 6, 330
o EEEXE B IAIE £ B THe %250 #A 8,160




